
1 / 9

KENSONE KIDS TRAMPOLINE
User Manual

Product Quality Warranty:

We offer you 12-month quality warranty, If there is any quality issues of the kids trampoline, please

do not hesitate to contact us immediately. Please provide us with the ORDER ID and photos or

video of the defective parts of the trampoline in the message, then we can confirm the issue.

KENSONE CUSTOMER SERVICE TEAM will respond within 24 hours with appropriate solutions.

Email Address: info@kensonetrampoline.com

mailto:kensonesport@gmail.com


2 / 9

Introduction
Product Name: KENSONE Kids Trampoline with T-Bar

Model No.: 2023BSD05

Manufacture: Zhejiang Kensone Fitness Equipment Co.,Ltd.

Manufacture Address : Jinyunxian huzhenzhen juxianlu 1 hao 3F, Lishui, Zhejiang

Importer: HAIHESU NETWORK INC

Importer Address：21140 BOCA CHICA HTS, FOUNTAIN, CO 80817

Telephone：626-234-9220

Age Range: 3+

Batch number: 2023BSD05-01

Production Date: 2023/05/20

Made in China

WARNING:
CHOKING HAZARD-small parts.

Not for children under 3 years.

Assembly Reminders:

In order to prevent the loss or lack of product accessories, please take out all the

accessories after receiving the box, and carefully check the number of all accessories

against the parts list in the user manual.

At least 2 people are required to install this mini trampoline. Meanwhile, please do not put

your head close to the main body of the trampoline during installation to avoid physical or

facial injury. We will not bear any responsibility for any adverse consequences caused by

illegal operations, thank you!



3 / 9

Warnings
 Do not attempt or allow somersaults. Serious injuries, paralysis, or death may result.

 Do not allow more than one person on the trampoline at a time.

 Use trampoline only with mature, knowledgeable supervision.

 Not recommended for children under 3 years of age.

 Inspect before use. Keep frame padding in place.

 Climb on and off the trampoline. Do not use the trampoline as a springboard.

 Stop bounce by flexing knees as feet come in contact with the bed.

 Learn fundamental bounces and body positions thoroughly.

 Avoid bouncing too high. Maintain control.

 While keeping the head erect, focus eyes on the trampoline toward the perimeter.

 Bounce in the center of the bed.

 Avoid bouncing when tired.

 Secure the trampoline against unauthorized use.

 Keep objects away which could interfere with the performer.

 Do not use the trampoline while under the influence of alcohol or drugs.

 For equipment information, contact the manufacturer.

 For skill training information, contact a trainer certification organization.

 Do not use when trampoline is wet or in windy conditions.

 Read instructions before use.



4 / 9

Warnings
 This trampoline must be installed on a relatively flat floor

 The trampoline springs have to be installed properly. Please make sure not

to hurt your fingers or arms during installation.

 Trampoline handrails are only used to help users to maintain their body

balance. Do not lie down or press yourself on the armrest.

 The trampoline has an overall load of 50kg/110lbs.

 Please move the trampoline to a place near a wall or a large space. Do not

place it in a crowded place to avoid injury during use.

 Younger children need parental guidance and supervision during use.

 During use of the trampoline, please do not step on the main frame with

your feet to avoid the trampoline turning over.

 Regularly check the trampoline springs, if it is worn out, please replace it in

time.



5 / 9

Parts List

Part number Part Name Picture Quantity

TR01 Main frame tube 7

TR02 Jumping mat 1

TR03 Spring 28

TR04 Spring hook 1

TR05 Safety pad 1

TR06 Leg suction cup 6



6 / 9

TR07 Leg sleeve 1

TR08 Upright handle pole 1

TR09 T-shaped handle pole 1

TR10

M6*10mm screws set
(Including 2 black screws
and 1 smaller Allen
wrench)

1

TR11

M8*10mm screws set
(Including 2 silver screws
and 1 bigger Allen
wrench)

1

TR12 User Manual 1



7 / 9

Installation Instructions
1.Connect all the 7 main frame tube to get a circle trampoline base.

Tips for the final connection of the trampoline:

When connecting the frame at the end, please lift it up and press it down

slightly to connect it. Please note that keep the side without legs facing

towards the person to prevent the foot tube from bending when the frame is

under pressure.

Correct Wrong



8 / 9

2.Attach all the springs with hooks to connect the jumping mat and frame.

Please make sure that the triangle ring is in good shape and condition.

3.Attach the suction cups to the legs.

4.Put the upright handle pole into the leg tube which is not covered by suction

cup, then put on the leg sleeve to the leg tube.



9 / 9

5.Tighten all the screws. Tighten the upright handle pole with the M8*10mm

screws set, tighten T-shaped handle pole with the M6*10mm screws set.

M8*10mm screws set M6*10mm screws set

6.Put on the safety pad, remember to tie the elastic rope.


